Multiplying Integers (A)

Name:

Date:

8 X8
9X38
—7X6

8 X (—

9X9

—9X(—

7 X7

9 X (—
_6x(_

7X9
-8 X7
6 X8
—2X3

_8x(_
_Sx(_

8 X 6

2 X (—
_1><(_

—2X6
7X?2

3X (-

—-1Xx4
3X6

9 X (—
—9X(—

Calculate each product.

= 5% (—4)=
—4 X2

6 X 4

9) = —-1x5 =

7% (1) =

7) = 9% (=3)=
2 X4
6) = 6 X9

7) = 3IX(=7)=

= -2 X (=5)=
5% 8

4% (—8) =

—5x(-1)=

3)= —6 X (—6) =

5)= 6 X (=5) =
2X38

9) = 8 X (=2) =

1) = 7 X (—8) =
= 3x1
= —4 X5
8) = 1X6

—7%x(-3)=

—-1x%x(-3)=

1) = -2X7 =

5)= —-6X2 =

Score:

Math-Drills.com




